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subroutine mmjki(a,b,c,n)

implicit nome

integer n,i,j,k

double precision a(n,n),b(n,n),c(n,n)
*k

*%k Outer loop unrolled (2 times).
*k
do j =1,n

*k

*% IF test is invarient in loop so moved to outside.
*k Outer loop unrolled (4 times).

*k

dok =1,n

%k %k

*% SWPL applied.
*%k 6 streams (A[]lx4, C[]1x2) pre-fetch applied.
*ok

doi=1,n

c(i,j) = c(i,j) + a(i,k) * b(k,j)
end do
end do
end do

end
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IJK:

do i =
do j
do k

1,

N~ B

,0
i,n

c(i,j)=c(i,j)+a(i,k)*b(k,])

end do
end do
end do

IJKT:

d

JKI:

n
i,n
c(i,j)=c(di,j)+a(i,k)*b(k,j)

= transpose(a)

d = a(i,:) doi=1,n
do j=1,n do j =1,n
do k = 1,n do k = 1,n
c(i,j)=c(i,j)+d(k)*b(k,j) c(i,j)=c(i,j)+d(k,i)*b(k,])
end do end do
end do end do
end do end do
INTRINSIC:
¢ = c+matmul(a,b)
020000
n=200: (MFLOPS)
oooon IJK JKI | TJKT | IJKTT | Intrinsic
-03 -noparallel 758.8 | 1250.5 | 757.0 748.1 216.7
-04 -noparallel 790.1 | 2344.6 | 788.8 T78.7 755.1
-0s -nodisbracket -noparallel || 5110.5 | 5123.4 | 2818.2 | 5062.7 1117.9
-0s -noparallel 6940.7 | 6949.6 | 4305.7 | 5065.9 6147.3
n=2000: (MFLOPS)
ooood IJK JKI | IJKT | IJKTT | Intrinsic
-03 -noparallel 141.1 | 902.1 | 607.5 622.9 134.4
-04 -noparallel 199.4 | 1243.0 | 628.5 641.6 198.6
-0s -nodisbracket -noparallel | 3333.1 | 3333.3 | 1480.1 | 3834.5 295.5
-0s -noparallel 6116.5 | 6116.5 | 1660.0 | 3819.4 5998.1




3.4 U0

gooboobooboobboobooboobooobooboonoooooboobon
000000020000000000000%000000000000000000

gbooboboboooz2o000ibooboooobooboboooobobobobn
gboooboobobooboobobooboooboobo2000b0obbooobobOobon
0000000000000000000000000000000000000070

gboobobobobob 200 20000000000000000000000000
goboobooboboobooooo3boonoboonboon

. JgbooboboobooboobobobobooboobooboboooboooobDoo
gboogoo

2. JKO JKIOODOoOoooobobobobobuoboboobo

3. -0sO000000000O0O0ODOOOO0OODnOO

-300OmlogOODOOO0OOD0OOOD-0400000000O0O0ODO0OOOODOODLO
goboobooobobobooboboboobobooboobobooboooobon
UbbOo000bu0i-0s -nodisbracket UU O OUOOOODOOOOO0OO0OOOOOOO
gobodbobooobooboboobbooboobbooo

subroutine mmijk(a,b,c,n)
implicit none
integer n,i,j,k
double precision a(n,n),b(n,n),c(n,n)
*k
*% SWPL applied.
*k 6 streams (A[lx4, C[1x2) pre-fetch applied.
*k
doi=1,n
*k

*k Loop interchanging (I,J,K)->(J,K,I) applied.

*k Outer loop unrolled (2 times).
*K
do j=1,n

*K

*% IF test is invarient in loop so moved to outside.
*%k Outer loop unrolled (4 times).

*K

do k = 1,n
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c(i,j) = c(i,j) + a(i,k) * b(k,j)
end do
end do
end do
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-0s0000gg:
* %
*% 000000000 (_hf_mat_matmul).
* %
do j=1,n
do k =1,n
doi=1,n
c(i,j) = c(i,j) + a(i,k) * b(k,j)
end do
end do

end do
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